IRELESS

Samsung RRH-BRKT-Pole/Wall Mount

Wireless Construction, Inc.
40 Blake Road, Standish ME 04084
Phone: (207) 642-5751 | Fax: (207) 642-5754
www.wcitowers.com

Rev1.0 -021119
/)




SAMSUNG RRH-BRKT

Pole/Wall Mount

Product Features:

 For use with Samsung Dual-Band Radio Unit and Delta 1.8kw
Power Supply

» Compact Size

* Diverse mounting applications; includes concrete lamp post,
steel pole, wood pole applications, and wall mountable.

* Optional grounding locations

» Power supply mounting options with ability to adjust bracket for
slight tilt

- Concealment Cover attachment (cover not included in this kit*)

« Kit Includes: (2) Pole Brackets, (1) Power Supply Bracket, (1)
Router Bracket, (2) 5/8 x 16” Bolts, (4) 82 Make a Clamp,
Grounding Jumper, and all associated hardware.

« Kit Allows for: Fiber MultiPort, 90Watt Radiohead, Router, and
Power Supply

Product Specifications:
Model No: SAMSUNG RRH-BRKT

Dimension (W xH x D) 33 x 13 x 12 (inches)

Weight 16 Ibs

Safety 500 Ibs Vertical Load Rating

Environment Galvanized, Weather Resistant

Cooling Natural Cooling

Mount Lamp post, pole or wall mountable
Construction Aluminum/ Steel

Finish Outdoor Powder Coating/ Natural Color

Rev1.0 -021119



Assembly A

Item Part Number Description Qty
1 V-726 Main Bracket 1
2 V-125 Pole Bracket 2
3 V-727 Power Supply Bracket 1
4 V-Band BAB 3848 2
5 8228 5/8 x 16" Square Headed Bolt 2
6 233 3"x3"x1/4" Curved Washer 2
7 V-1420-500 Flange Head Cap Screw 1/4"-20 1/2"lg 4
8 V-3816-500 Flange Head Cap Screw 3/8"-16 1/2"Ig 4
9 V-1420-FLN Flange locknut 1/4"-20 (ground bus) 12
10 V-G-12 12" Ground Jumper 1
11 V-M635 M6X35 Screw (Supplied with Power Supply) 6
12 V-728 Radio Bracket 1
13 V-729 Radio Bracket Spacer 1
14 V-0516-500 Flange Head Cap Screw 5/16"-18 1/2"lg 4

Not Included:

15 Delta 1.8kwW Delta DC Power Supply 1
16 Samsung RRH Samsung Dual Band Radio 1

SAMSUNG RRH-BRKT-Pole/Wall-Mount

Rev1.0 -021119



SAMSUNG RRH-BRKT-Pole/Wall-Mount

Radio Not Included

Assembly B

Power Supply
Not Included

'
”,
[/
()
[)
v,
’!
[)

,,,,
’f
[/

Assembly C ~

3 Rev1.0 -021119



SAMSUNG RRH-BRKT-Pole/Wall-Mount
Assembly B

Assembly C

Rev1.0 -021119



